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( Example 1

{So if we know one angle measure,
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And recall from Unit 1, vertical
and a linear Bair is always supplementary.

of alternate interior angles is(‘&fﬂ_\m_-
of alternate exterior angles is CONON JU Wz

of same-side interior angles is m&%g%_
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of corresponding angles is ConayY 1 ¥
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les are always congruent

Given mz1 = 65°, find the measure of each missing angle.

then we can find thetn all} For the following examples 1-2,m || -

jve your reasoning
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Given m46 = 142°, find the measure of each missing angle. Give your reasoning.
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Example 4| Givenm«£12=121°

Example 3 | Given m45 = 82°, find the measure of each missing ongle.

ami= 9y |e msb= Z2° |imaa0= AP
b.me2= 9 |(fma= FL |§mal= Qf
cmsl= 9B’ |g.mB=g k.ms12= 98’
d. mea= 32 |hmo= B

and mz6 = 75°, find the measure of each missing angle.
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A N/BG BNa = qg |emss Y |k ma0= \05
MY T T b. me2= Y f.ms7= |2\ jomal= KO
= =‘°‘7Z%10‘°‘: ¢ ms3= %9 |g.mB= 50 |k ma3= |05
” : \1-2»* ﬁ%s' d mta= 99" |hmo= 9 |Lmai= )S°

Given m£2 = 41°, m£5 = 94°, and m£10 = 109°, find the measure of each missing angle.

1
a msl= 8(’ d. msb= "H’ g. ms9= |_“'
b. mZ3 = 53 e. mZ7 = \09’
” > N | € msd = Ne° |fomsB= 30"
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